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Candidates must write the Code on
the title page of the answer-book.
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e Please check that this question paper contains 8 printed pages and 2 pages of maps.

s Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate. :

e Please check that this question paper contains 22 questions.
o Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i) There are 22 geneal questions.

(ii) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to these questions should not exceed 40 words.

(iii) Question numbers 8-13 are short answer questions carrying 3 marks each. Answer
to these questions should not exceed 80-100 words.

(iv) Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to these questions should not exceed 150 words.

(v) Question numbers 21-22 are related to identification, locating and labelling of
geographical features on given map carrying 5 marks each.

(vi) Outline maps of the World and India provided to you must be attached within your
answer-book.

(vii) Use of templates or stencils for drawing outline maps is allowed.

(viti) All guestions are compulsory.

1. wEuw & aeffeor wf wEE e 2 i
What is the criterion for the classification of pollution ?

2. YRETE G A e TeTEn #9 aarnn 9 ? 1.
Why did Sher Shah Suri built the Shahi (Royal) road ? ’
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, 3 wEeE AT & w5 e e e S € 2 o . 1

How is the level of urbanization measured in India 7

4. “uftEes sweT % uieam fafae | 1

Define the term ‘“transport network’.

s, i oi weRl SR % SR W SR T i | | 12+12=1

Distinguish between towns and villages on the basis of occupation.

¥
L 6. i fead e wen £2 1
What are economic activities 7
7. smeeEn faerer $t e e | 1

Define the term ‘populaton distribution’.

> 54 <t wedor aReE 2% st & fr Seer et de el Bl e we | Ix1=3

Explain any three factors responsible for the location of rural settlements in the world.

9. e vt ¥ arr b e & o el v el v FC | 3x1=3

What is the subject-matter of the study of human geography ? Explain any three facts.
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10.

11,

12.

13,

14.
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Wﬁmﬁmaﬁaﬁmmmﬁaaﬁﬁﬁﬁﬁmi?waﬁﬁm Ix1=3

What makes rural settlements different from urban settlements in India ? Explain. \

“femT i giafeaa w5t & fog St o e, EwE Sl Her aEvaw A U E 1 o
WA & Howr § welaT gedt %t g | s i | 3

“The assessment, efficient use and conservation of water are necessary to ensure
development.” Explain in the light of values regarding conservation of water

TESOUICes.

*Wﬁﬁ-@ﬁﬁrwmﬁﬁwﬁ%ﬁwaﬁ?mtﬁmﬁaﬁﬁﬁmqﬁwﬁﬁ?% P
T T UG T IH T T F gt i | Ini=3

“Land resource is more crucial to the people whose livelihood is depending on
agriculture in India.” Support this statement by any three suitable arguments.

mﬁm%ﬁm%?wmﬂwﬁﬁaﬂw%ﬁwmﬁﬁﬁwm%m
WWW[ 1+2=3

How is environmental pollution caused 7 Mention the four different types of pollution
responsible for the environmental degradation.

mﬁmqﬁﬁﬁ%rmﬁm%ﬁmﬁmﬁﬁmwm
FH B AT BT | 1+4=5

When does positive growth of population take place 7 Explain the geographical factors
that influence the distribution of population in the world.



1.

16.

i

18.

19.

20.

AT TYEROT o fafew | gust Rl ar favtemat =t sme st | 1+4=5

Define the term “nomadic herding’. Explain its any four characteristies.

o d suimt =t sttt 7 onfas $0 o e O sl w0 e sfew | 5x1=5

Explain any five factors that influence the industrial location in the world.

A F T OAg § @6 AeEd T " 9% & e diaes & e @t g e

T | 5x1=5

Describe the journey of development of land transport from the days of humans as

carriers and the cable ways of todays.

HRE H e F ame S AR e e A A e s s aTeRT | 1+4=5

What is the source of population data in India ? Explain the distribution of population
in India.

“nr § Wt 1 e Teey @ Y r’aﬂmaﬁ%mmwzﬁraﬁaﬁhm Sx1=5

“The distribution of roads is not uniform in India.” Support this statement with suitable
arguments. '

ae o SOl W SAEe W He T ¢ 7 anfemaen ¥ uREds gsua | uftad st e

R wafaa $@ & 7 e i | 2+3=5

Why is the area under pastures is decreasing in India ? How do the changes in the
economy effect the changes in land use ? Explain.
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21, duw % f e v Saname d O e A, B, C. D 9T E ¥ s avie e ¥ | =
TN I AT £ T AHER] F WA § wEai ST I el A s e gt i
T W atE I Sx1=35
(A) wa fam gais (2003) § 3egag o=t =@ 2
(B) Yemamt =1 ifm w2
(C) U we e
(D) U WG WRI-TE
(E) usaAm Rt

In the given political outline map of the World, five features have been shown by A B C,
D and E. Identify these features with the help of the information given below and write
their correct names on the lines drawn near them -

(A) The country having the highest rank in Human Development Index 2003,
(B) Railway terminal station.

(C) Animportant airport.

(D) A major seaport,

(E) A mega city
W:Wwﬁaq&aﬁauﬁmﬁﬁ%mmmmﬁ?mwﬁ:
(21.1) == formera gasiss 2003 | Soamw o1 &t 39 % A fefer |
(21.2) areformd OR wewidE Tomnt % we gal S % = e |
(21.3) ami 3 fdt wpe arqews = 9 fafa |

{21.4} ﬂmﬁﬁé_%mw%amWWwwmr

(21.5) =mgsiifear v am fodt s a0
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Note : The following questions are for the Visually impaired candidates only, in lieu of
Q. No. 21 :

(21.1} Name the country having the highest rank in Human Develu]ﬁmem Index 2003.
(21.2) Name the eastern most station of Australian Trans-Continental raillway.

(21.3) Name any major airport of Brazil,

(21.4) Name the major seaport located on the coast of the Gulf of Mexico.

(21.5) 'Which is the Mega city of Nigeria ?

e & o v it e amtes o frefofian 9 fefi svge fe @ Ry si o
A feifa 5x%1 =5

(i) WEH O FAFA T T
(i) T UEN T TUEE T
(iii) &N | Aeries wE
(iv) Bl T wi we AR R g
(v) eilesh q SRig Ao

On the given political outline map of India, locate and label the following with
appropriate symbols :

(i)  The state having the smallest area

(i1} The leading Jute producing state

(iii) A oil-refinery in Haryana

(iv)  An integrated Iron and Steel Plant in Chhattisgarh

(v) The international airport in Kamnataka

e ; ﬁtﬁﬁﬁf@ﬁﬂﬂﬁiﬁ'ﬁﬁﬂtﬂﬁﬂﬂﬁm%fﬁ!mm R2EFETARE:
(22.1) WA & FI§ FH HI%FA qret TG T T FAEC |

(22.2) wRa # S 1 TEG 9% IRHF TA T W E?

(22.3) =faon # fer Ao a5t =W saRT |

(22.4) wiivTg % 3§ TN F AW IR T v der A e wdy e
(22.5) Wl % form TR A sieniedia arpoe fem & o
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Note ;

(22.1)
(22.2)
(22.3)

(22.4)

(22.5)

64/1/2

The following questions are for the Visually impaired candidates only, in
lien of Q. No. 22 :

MName the state of India having the smallest area. )
Which is the leading Jute producing state of India ?
Name the oil-refinery located in Haryana.

Name the place in Chhattisgarh, where an integrated iron and steel plant is 1
located.

In which city of Karnataka, the intemational airport is located ?




21

Map for Q). No

wer &, 21 % fore wefas

mmmmmmec QARMR meemeneo UOHIND mmmmmcooco: PO e mmmcme GBI -henne

- g _

,Hrfaf - 4 e _




64/1/2

10



147
—437%

& 8
_

., - -
3 i .\m 1 —&;
| i
o%_... m H ] " ~.f__Hm
g ey s
< 3
sl D mm
g i,
.
ki .
E
) |
uw i 45
=
o e 3
P | . ] iy
£ q | ot
EF J
__.WW gl L o




64712




